A Note on the Relationships Between the Generalized Bernoulli and Euler Polynomials*

Weiping Wang a, t Tianming Wang a, b

^a Department of Applied Mathematics, Dalian University of Technology Dalian 116024, P.R.China

> b Department of Mathematics, Hainan Normal University Haikou 571158, P.R.China

Abstract

In this article, we study the generalized Bernoulli and Euler polynomials, and obtain relationships between them, based upon the technique of matrix representation.

Keywords: Generalized Bernoulli polynomials; Generalized Euler polynomials

1. Introduction

In many contexts, matrix representation of a particular counting sequence is considered, and such a representation provides a powerful computational tool for deriving identities and explicit formulas related to the sequence, see, for example [3, 7].

Recently, Cheon [2] rederived several known properties and relationships involving the classical Bernoulli polynomials $B_n(x)$ and the classical Euler polynomials $E_n(x)$, by making use of some fairly standard techniques based upon series rearrangement as well as matrix representation. The main consequence obtained in [2] is the following equation:

$$B_n(x) = \sum_{\substack{k=0\\k \neq 1}}^n \binom{n}{k} B_k E_{n-k}(x) \,. \tag{1}$$

^{*}It is supported by NSF of Hainan Province.

[†]E-mail addresses: wpingwang@yahoo.com (Weiping Wang), wangtm@dlut.edu.cn (Tianming Wang)

Srivastava and Pintér [8] followed Cheon's work [2] and showed that the main relationship (1) proven in [2] is essentially the same as some results known before (see [8], p.376, for details). Moreover, they studied the generalized Bernoulli polynomials $B_n^{(\alpha)}(x)$ as well as the generalized Euler polynomials $E_n^{(\alpha)}(x)$, and established some relationships between them.

The object of the present sequel to their work is to show some relationships between the generalized Bernoulli and Euler polynomials with matrix representation.

This paper will be organized as follows: the Bernoulli and Euler polynomials will be introduced briefly, and the corresponding matrix equations will be constructed in Section 2. And, in Section 3, we will establish two relationships between the generalized Bernoulli and Euler polynomials, which have probably not been realized before. These two relationships are

$$B_n^{(\alpha)}(x) = \frac{1}{2^{\beta}} \sum_{k=0}^n \binom{n}{k} \left[\sum_{l=0}^{n-k} \sum_{m=0}^{\beta} \binom{\beta}{m} m^l \binom{n-k}{l} B_{n-k-l}^{(\alpha)}(0) \right] E_k^{(\beta)}(x) ,$$

$$E_n^{(\alpha)}(x) = \sum_{k=0}^n \binom{n}{k} \big[\sum_{l=0}^{n-k} \binom{n-k}{l} \frac{\sum_{m=0}^{\beta} (-1)^{\beta-m} \binom{\beta}{m} m^{l+\beta}}{\prod_{m=1}^{\beta} (l+m)} E_{n-k-l}^{(\alpha)}(0) \big] B_k^{(\beta)}(x) \; .$$

We will also show that some results presented before are just the special cases of the above equations.

2. Matrix equations of the generalized Bernoulli and Euler polynomials

Let $\mathbb{N}_0 = \{0, 1, 2, \cdots\}$ and $\mathbb{N} = \{1, 2, 3, \cdots\}$. The classical Bernoulli polynomials $B_n(x)$ and the classical Euler polynomials $E_n(x)$ are defined by the following exponential generating functions:

$$\frac{te^{xt}}{e^t - 1} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!} \quad (|t| < 2\pi) \,, \quad \frac{2e^{xt}}{e^t + 1} = \sum_{n=0}^{\infty} E_n(x) \frac{t^n}{n!} \quad (|t| < \pi) \,.$$

And we know that there are explicit formulas for $B_n(x)$ and $E_n(x)$, respectively,

$$B_n(x) = \sum_{k=0}^{n} \binom{n}{k} B_k x^{n-k} , \qquad (2)$$

$$E_n(x) = \frac{1}{n+1} \sum_{k=1}^{n+1} (2 - 2^{k+1}) \binom{n+1}{k} B_k x^{n+1-k},$$
 (3)

where $B_k := B_k(0)$ is the Bernoulli number for each $k \in \mathbb{N}_0$. Besides, $B_n(x)$ and $E_n(x)$ satisfy the following equations:

$$\sum_{k=0}^{n} \binom{n+1}{k} B_k(x) = (n+1)x^n, \quad (n \in \mathbb{N}_0),$$
 (4)

$$\sum_{k=0}^{n} \binom{n}{k} E_k(x) + E_n(x) = 2x^n, \quad (n \in \mathbb{N}_0).$$
 (5)

For a real or complex parameter α , the generalized Bernoulli polynomials $B_n^{(\alpha)}(x)$ and the generalized Euler polynomials $E_n^{(\alpha)}(x)$, each of degree n in x as well as in α , are defined by the following generating functions:

$$\left(\frac{t}{e^t - 1}\right)^{\alpha} e^{xt} = \sum_{n=0}^{\infty} B_n^{(\alpha)}(x) \frac{t^n}{n!}, \quad |t| < 2\pi, 1^{\alpha} := 1, \tag{6}$$

$$\left(\frac{2}{e^t+1}\right)^{\alpha} e^{xt} = \sum_{n=0}^{\infty} E_n^{(\alpha)}(x) \frac{t^n}{n!}, \quad |t| < \pi, \ 1^{\alpha} := 1.$$
 (7)

It is obvious that

$$B_n^{(1)}(x) = B_n(x), \quad E_n^{(1)}(x) = E_n(x), \quad (n \in \mathbb{N}_0),$$
 (8)

$$B_n^{(0)}(x) = E_n^{(0)}(x) = x^n, \quad (n \in \mathbb{N}_0).$$
 (9)

Besides, $B_n^{(\alpha)}(x)$ and $E_n^{(\alpha)}(x)$ have the following properties (cf., [8], p.378):

$$B_n^{(\alpha-1)}(x) = \frac{1}{n+1} \sum_{k=0}^n \binom{n+1}{k} B_k^{(\alpha)}(x), \qquad (n \in \mathbb{N}_0),$$
 (10)

$$E_n^{(\alpha-1)}(x) = \frac{1}{2} [E_n^{(\alpha)}(x) + \sum_{k=0}^n \binom{n}{k} E_k^{(\alpha)}(x)], \quad (n \in \mathbb{N}_0).$$
 (11)

We now construct the corresponding matrix representations of (10) and (11).

Consider the case of α , $\beta \in \mathbb{N}_0$ and let $B^{(\alpha)}(x)$, $E^{(\beta)}(x)$ and X(x) be the $(n+1) \times 1$ matrices defined by

$$B^{(\alpha)}(x) = \begin{pmatrix} B_0^{(\alpha)}(x) \\ B_1^{(\alpha)}(x) \\ \vdots \\ B_n^{(\alpha)}(x) \end{pmatrix}, \ E^{(\beta)}(x) = \begin{pmatrix} E_0^{(\beta)}(x) \\ E_1^{(\beta)}(x) \\ \vdots \\ E_n^{(\beta)}(x) \end{pmatrix}, \ X(x) = \begin{pmatrix} 1 \\ x \\ \vdots \\ x^n \end{pmatrix},$$

and let P_{n+1} , Q_{n+1} be the $(n+1)\times(n+1)$ lower triangular matrices defined by

$$[P_{n+1}]_{ij} = \left\{ \begin{array}{ll} \binom{i-1}{j-1} \,, & if \ i \geq j \,, \\ 0 \,, & else \,, \end{array} \right. \quad [Q_{n+1}]_{ij} = \left\{ \begin{array}{ll} \frac{1}{i} \binom{i}{j-1} \,, & if \ i \geq j \,, \\ 0 \,, & else \,. \end{array} \right.$$

Then (10) and (11) can be expressed as

$$Q_{n+1}B^{(\alpha)}(x)=B^{(\alpha-1)}(x), \quad \frac{1}{2}(P_{n+1}+I_{n+1})E^{(\alpha)}(x)=E^{(\alpha-1)}(x), \quad (12)$$

where I_{n+1} is the identity matrix of order n+1.

Since $\alpha \in \mathbb{N}_0$, then

$$B^{(\alpha)}(x) = Q_{n+1}^{-1} B^{(\alpha-1)}(x) = (Q_{n+1}^{-1})^2 B^{(\alpha-2)}(x) = \cdots$$
$$= (Q_{n+1}^{-1})^{\alpha} B^{(0)}(x) = (Q_{n+1}^{\alpha})^{-1} X(x), \tag{13}$$

$$Q_{n+1}{}^{\alpha}B^{(\alpha)}(x) = X(x). \tag{14}$$

Analogously, for the matrix $E^{(\beta)}(x)$, we have

$$E^{(\beta)}(x) = 2^{\beta} [(P_{n+1} + I_{n+1})^{\beta}]^{-1} X(x), \qquad (15)$$

$$\frac{1}{2\beta}(P_{n+1} + I_{n+1})^{\beta} E^{(\beta)}(x) = X(x). \tag{16}$$

By setting $\alpha = 1, \beta = 1$ in (13) and (15), we obtain the matrix equations of the classical Bernoulli and Euler polynomials, respectively:

$$B(x) = Q_{n+1}^{-1}X(x), \quad E(x) = 2(P_{n+1} + I_{n+1})^{-1}X(x).$$
 (17)

In view of (2) and (17), we have

$$[Q_{n+1}^{-1}]_{ij} = {i-1 \choose j-1} B_{i-j}, \quad i \ge j.$$

Moreover, since ([1], p.805, Entry(23.1.20); [6], p.29)

$$E_n(0) = \frac{2(1-2^{n+1})}{n+1}B_{n+1}, \quad n \in \mathbb{N},$$

then from (3), we have

$$E_{i-1}(x) = \sum_{i=1}^{i} \binom{i-1}{j-1} E_{i-j}(0) x^{j-1}.$$

With(17), we immediately deduce that

$$[(P_{n+1}+I_{n+1})^{-1}]_{ij}=\frac{1}{2}\binom{i-1}{j-1}E_{i-j}(0)\,,\quad i\geq j\,.$$

The matrix equations above will lead us to the relationships between the generalized Bernoulli and Euler polynomials.

3. Relationships between the generalized Bernoulli and Euler polynomials

Theorem 1. The following relationship

$$B_n^{(\alpha)}(x) = \frac{1}{2^{\beta}} \sum_{k=0}^n \binom{n}{k} \left[\sum_{l=0}^{n-k} \sum_{m=0}^{\beta} \binom{\beta}{m} m^l \binom{n-k}{l} B_{n-k-l}^{(\alpha)}(0) \right] E_k^{(\beta)}(x)$$

$$(\alpha \in \mathbb{C}, \ \beta \in \mathbb{N}_0, \ n \in \mathbb{N}_0)$$

$$(18)$$

holds between the generalized Bernoulli and Euler polynomials.

Proof. We now determine the (i, j)-entry of

$$S_{n+1} := (Q_{n+1}^{\alpha})^{-1} (\frac{1}{2} (P_{n+1} + I_{n+1}))^{\beta}$$

$$= \frac{1}{2^{\beta}} (Q_{n+1}^{-1})^{\alpha} (P_{n+1} + I_{n+1})^{\beta}, \qquad (19)$$

for integers i, j with $i \geq j$, where $\alpha, \beta \in \mathbb{N}_0$.

With induction, we can show that

$$[(Q_{n+1}^{-1})^{\alpha}]_{ij} = {i-1 \choose j-1} B_{i-j}^{(\alpha)}(0), \quad i \ge j,$$
(20)

$$[(P_{n+1} + I_{n+1})^{\beta}]_{ij} = {i-1 \choose j-1} \sum_{m=1}^{\beta} {\beta \choose m} m^{i-j} + (I_{n+1})_{ij}, \quad i \ge j. \quad (21)$$

Then (19), (20) and (21) will deduce that

$$[S_{n+1}]_{ij} = \frac{1}{2^{\beta}} \binom{i-1}{j-1} \sum_{l=0}^{i-j} \binom{i-j}{l} B_{i-j-l}^{(\alpha)}(0) \sum_{m=1}^{\beta} \binom{\beta}{m} m^l + \frac{1}{2^{\beta}} \binom{i-1}{j-1} B_{i-j}^{(\alpha)}(0).$$

Since (19) implies that

$$\left(\frac{1}{2}(P_{n+1}+I_{n+1})\right)^{\beta}=Q_{n+1}{}^{\alpha}S_{n+1},$$

then we have $B^{(\alpha)}(x) = S_{n+1}E^{(\beta)}(x)$ from (14) and (16), and we finally gain our ends with some computation:

$$\begin{split} B_{n}^{(\alpha)}(x) &= \sum_{j=1}^{n+1} S_{n+1, j} E_{j-1}^{(\beta)}(x) = \sum_{k=0}^{n} S_{n+1, k+1} E_{k}^{(\beta)}(x) \\ &= \sum_{k=0}^{n} \sum_{l=0}^{n-k} \frac{1}{2^{\beta}} \binom{n}{k} \binom{n-k}{l} B_{n-k-l}^{(\alpha)}(0) \sum_{m=1}^{\beta} \binom{\beta}{m} m^{l} E_{k}^{(\beta)}(x) \\ &+ \sum_{k=0}^{n} \frac{1}{2^{\beta}} \binom{n}{k} B_{n-k}^{(\alpha)}(0) E_{k}^{(\beta)}(x) \\ &= \frac{1}{2^{\beta}} \sum_{k=0}^{n} \binom{n}{k} [\sum_{l=0}^{n-k} \sum_{m=0}^{\beta} \binom{\beta}{m} m^{l} \binom{n-k}{l} B_{n-k-l}^{(\alpha)}(0)] E_{k}^{(\beta)}(x) \;. \end{split}$$

We have just proved that for $\alpha, \beta \in \mathbb{N}_0$, (18) holds. Since for given $\beta \in \mathbb{N}_0$, both sides of (18) are polynomials in α , it follows that for arbitrary $\alpha \in \mathbb{C}$, (18) still holds.

Remark 1. By setting $\beta = 1$ in Theorem 1, we obtain the following special case:

$$B_n^{(\alpha)}(x) = \sum_{k=0}^n \binom{n}{k} [B_k^{(\alpha)} + \frac{k}{2} B_{k-1}^{(\alpha-1)}] E_{n-k}(x) ,$$

which yields an equation obtained in [8] (see [8], p.379, equation (35)), where $B_k^{(\alpha)}$ is the generalized Bernoulli number which satisfies $B_k^{(\alpha)}=B_k^{(\alpha)}(0)$. Further special cases of (18) when $\alpha=0,\beta=1$ and $\alpha=1,\beta=1$ give us (5) and (1), respectively. Besides, by setting $\beta=0$ in (18), we obtain the equation

$$B_n^{(\alpha)}(x) = \sum_{k=0}^n \binom{n}{k} B_{n-k}^{(\alpha)} x^k.$$

Alternatively, the assertion (18) of Theorem 1 leads us to the following (presumably new) relationships when $\alpha = 0$ and $\alpha = 1$:

$$x^{n} = \frac{1}{2^{\beta}} \sum_{k=0}^{n} \binom{n}{k} \left[\sum_{m=0}^{\beta} \binom{\beta}{m} m^{n-k} \right] E_{k}^{(\beta)}(x) ,$$

$$B_{n}(x) = \frac{1}{2^{\beta}} \sum_{k=0}^{n} \binom{n}{k} \left[\sum_{l=0}^{n-k} \sum_{m=0}^{\beta} \binom{\beta}{m} m^{l} \binom{n-k}{l} B_{n-k-l} \right] E_{k}^{(\beta)}(x) .$$

Finally, we will show that the generalized Euler polynomials can be expressed by the generalized Bernoulli polynomials too.

Theorem 2. The following relationship

$$E_{n}^{(\alpha)}(x) = \sum_{k=0}^{n} {n \choose k} \left[\sum_{l=0}^{n-k} {n-k \choose l} \frac{\sum_{m=0}^{\beta} (-1)^{\beta-m} {n \choose m} m^{l+\beta}}{\prod_{m=1}^{\beta} (l+m)} E_{n-k-l}^{(\alpha)}(0) \right] B_{k}^{(\beta)}(x)$$

$$(\alpha \in \mathbb{C}, \ \beta \in \mathbb{N}_{0}, \ n \in \mathbb{N}_{0})$$
(22)

holds between the generalized Euler and Bernoulli polynomials.

Proof. It is analogous to Theorem 1. Let

$$T_{n+1} := 2^{\alpha} [(P_{n+1} + I_{n+1})^{\alpha}]^{-1} Q_{n+1}^{\beta}$$

= $2^{\alpha} [(P_{n+1} + I_{n+1})^{-1}]^{\alpha} Q_{n+1}^{\beta}.$ (23)

The (i,j)-entry of $[(P_{n+1}+I_{n+1})^{-1}]^{\alpha}$ is $\frac{1}{2^{\alpha}}\binom{i-1}{j-1}E_{i-j}^{(\alpha)}(0)$ for integers i and j with $i \geq j$. And, if we notice that ([5], p.2, equation(1.13)):

$$\sum_{k=0}^{n} (-1)^k \binom{n}{k} k^j = 0, \quad 0 \le j < n,$$

it will be not complex to prove with induction that

$$[Q_{n+1}{}^{\beta}]_{ij} = \frac{\sum_{m=1}^{\beta} (-1)^{\beta-m} \binom{\beta}{m} m^{i-j+\beta}}{\prod_{m=1}^{\beta} (i-j+m)} \binom{i-1}{j-1}, \quad i \ge j, \beta \in \mathbb{N}. \quad (24)$$

By using the convention $\prod_{m=1}^{0} (i - j + m) = 1$, (24) could be modified as

$$[Q_{n+1}{}^{\beta}]_{ij} = \frac{\sum_{m=0}^{\beta} (-1)^{\beta-m} {\binom{\beta}{m}} m^{i-j+\beta}}{\prod_{m=1}^{\beta} (i-j+m)} {\binom{i-1}{j-1}}, \quad i \ge j, \beta \in \mathbb{N}_0.$$

Then, we have

$$[T_{n+1}]_{ij} = \binom{i-1}{j-1} \sum_{k=j}^{i} \binom{i-j}{k-j} \frac{\sum_{m=0}^{\beta} (-1)^{\beta-m} \binom{\beta}{m} m^{k-j+\beta}}{\prod_{m=1}^{\beta} (k-j+m)} E_{i-k}^{(\alpha)}(0), \quad i \ge j.$$

Since we can deduce $E^{(\alpha)}(x) = T_{n+1}B^{(\beta)}(x)$ from (14), (16) and (23), then the final consequence can be easily obtained.

Remark 2. By setting $\beta = 1$ in (22) and using the equation $E_n^{(\alpha)}(x+1) + E_n^{(\alpha)}(x) = 2E_n^{(\alpha-1)}(x)$, we finally have

$$E_n^{(\alpha)}(x) = \sum_{k=0}^n \frac{2}{k+1} \binom{n}{k} \left[E_{k+1}^{(\alpha-1)}(0) - E_{k+1}^{(\alpha)}(0) \right] B_{n-k}(x) . \tag{25}$$

Further special cases of (22) when $\alpha = 0, \beta = 1$ and $\alpha = 1, \beta = 1$ will return to (4) and the following equation:

$$E_n(x) = -\sum_{k=0}^n \frac{2}{k+1} \binom{n}{k} E_{k+1}(0) B_{n-k}(x), \quad (n \in \mathbb{N}_0).$$

Besides, by setting $\beta = 0$ in (22), we obtain the equation

$$E_n^{(\alpha)}(x) = \sum_{k=0}^n \binom{n}{k} E_{n-k}^{(\alpha)}(0) x^k$$
.

Alternatively, the special cases of (22) when $\alpha = 0$ and $\alpha = 1$ give us the following relationships, respectively:

$$x^{n} = \sum_{k=0}^{n} \binom{n}{k} \left[\frac{\sum_{m=0}^{\beta} (-1)^{\beta-m} \binom{\beta}{m} m^{n-k+\beta}}{\prod_{m=1}^{\beta} (n-k+m)} \right] B_{k}^{(\beta)}(x) ,$$

$$E_{n}(x) = \sum_{k=0}^{n} \binom{n}{k} \left[\sum_{l=0}^{n-k} \binom{n-k}{l} \frac{\sum_{m=0}^{\beta} (-1)^{\beta-m} \binom{\beta}{m} m^{l+\beta}}{\prod_{m=1}^{\beta} (l+m)} E_{n-k-l}(0) \right] B_{k}^{(\beta)}(x) .$$

References

- M. Abramowitz, I.A. Stegun, Handbook of Mathematical Functions with Formulas, Graphs, and Mathematical Tables, National Bureau of Standards, Washington, D.C., 1964.
- [2] G.-S. Cheon, A note on the Bernoulli and Euler polynomials, Appl. Math. Lett. 16 (3) (2003) 365-368.
- [3] G.-S. Cheon, J.-S. Kim, Factorial Stirling matrix and related combinatorial sequences, Linear Algebra Appl. 357 (2002) 247-258.
- [4] L. Comtet, Advanced Combinatorics, D. Reidel Publishing Co., Dordrecht, 1974.
- [5] H.W. Gould, Combinatorial Identities, A Standardized Set of Tables Listing 500 Binomial Coefficient Summations, Morgantown, W. Va., 1972.

- [6] W. Magnus, F. Oberhettinger, R.P. Soni, Formulas and Theorems for the Special Functions of Mathematical Physics, Third Enlarged Edition, Springer-Verlag, New York, 1966.
- [7] P. Maltais, T.A. Gulliver, Pascal matrices and Stirling numbers, Appl. Math. Lett. 11 (2) (1998) 7-11.
- [8] H.M. Srivastava, Á. Pintér, Remarks on some relationships between the Bernoulli and Euler polynomials, Appl. Math. Lett. 17 (4) (2004) 375-380.